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BRACKETS AND POWERS Ref: G134.
Al Work out A2 Work out A3 Work out A4 Work out
5+10-2° 5+(10-2) 5+10° -2 (5+10)° =2
B1 Work out B2 Work out B3 Work out B4 Work out
5%2+10° 5%(2+10) 5%27+10 (5x2)*+10
C1 Work out C2 Work out C3 Work out C4 Work out
10x2x5 10X (2x5) (10 2)> x5 (10+2)> x5
D1 Work out D2 Work out D3 Work out D4 Work out
2% (5% +10) 2x(5+10%) 2x(5+10) (2+5%)x10
E1 Work out E2 Work out E3 Work out E4 Work out
5+10—(2+4) 5+10—(2+4°%) 5+10° —(2+4) (5+10)> — (2+4%)
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Al Work out A2 Work out A3 Work out A4 Work out
5+10-2> =5+10-H4 5+(10-2)°" =5 +8° 5+10°-2 =5+100-2 (5+100°-2 =15"-2
= =15-4 T =5+ 6l - =105-2 =225-2
=11 =6 =103 =28
B1 Work out B2 Work out B3 Work out B4 Work out
5%2+10° =10 +700 5%(2+10)° :5x2_2;_f° 5%x2°+10 =5 x4 +10 (5%2)*+10 :_1__0__‘°+1o
=110 =5 x 144 — =20 +10 =100 + 10
C1 Work out C2 Work out C3 Work out C4 Work out
10x2x5 =710x2x25 10x(2%5)* =10 % 10" (10%x2)* x5 :_2_9_"x5 (10+2)* x5 :_5_’_'><5
T =20x25 =10 x 100 =U00x 5 . =25x5
= 500 = 1000 = 2000 =125
D1 Work out D2 Work out D3 Work out D4 Work out
2x(55+10) =2 x (25 + 10) 2%x(5+10%) =2 x (5.+.200) 2x(5+10)° =2 x 15" (2+5)x10 = (2.+25)x 10
- =2x35 = =2x105 =2 X 225 - =27 x10
=70 =210 = U450 =270
E1 Work out E2 Work out E3 Work out E4 Work out
5+410-(2+4)" =54+10-6" 5+10-(2+44%) =5+10-(2+16) | 5+10°—(2+4) =5 +100-6 (5+10)° (2+4) = 15°- (2.+ 16)
=5+710-36 = =5+10-18 b =105 - 6 :225 18
=15-36 =15-18 = 99 = 207
=-21 = -3

© 2019 Maths4Everyone.com

Worksheets, Videos, Online Assessments and Exam Solutions




